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1.8) An clement mesh is based on the following 6-node and 9-node elements

0.5 ®

The approximation for the 6-node element is T' = a1 + asx + azy + gy + (1-5;172 + O(()-yQ,
while the approximation for the 9-node element is 7' = 31 + Fox + B3y + Fax? + F5y° +
Fexy + ;"37.1‘21)'2 + ;33;1ny + ,Bg:l‘zy

Check if the convergence criterion is fulfilled.

b) Identify four problems with the mesh shown.

G
4
C E
Q4 CcST Q4 LST
Q8 g
- LST Q6
B ® Q8 é
D F
Many poor connections! H =

C) The figure on the right shows the displacement results after inputting the problem on the
left. Has all the information been entered correctly? If not, what is wrong?
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¢'={0,0,9,0,7,7, 1, 6}

d'={0,0,1,0,3,2,2, 1}
t" = {0, 50, 100, 75}




